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Multiple choice questions (1 point each)
Please pick the option that you think best answers the question, and copy your choice to the table on the other page!

1. Why the market is called the efficient method of allocating scarce resources?
a. because it makes sure that the price is fair for everyone
b. because it creates competition, and the incentive to work hard
C. because no one can cheat in a market allocation system
d. because in this case we do not need a government

2. Why is (or could be) there a trade-off between maximising votes and maximising welfare?
a. because the short-term orientation/memory of voters
b. because politicians can maximise their votes by limiting the welfare of their voters
c. because the welfare of the people depends on high taxes
d. because politicians are influenced by foreign ideologies

3. Neo corporatist economies...
a. are countries like the USA, where the interests of the corporations have a priority
b. are countries like Japan, where politicians have a great say in corporate issues
c. are countries like Hungary, where corporations receive a lot of government subsidies
d. are countries like Germany, where the government, the corporations and the employees make collective decisions

4. The Phillips-curve describes the trade-off between employment and prices, so if the unemployment rate has been decreasing for
years in Hungary, we can expect ...
a. asurplus in the central budget
h. prices to decrease as well because of the increased supply
c. asteady decline in growth
d. pricestoincrease

5. Which of the below is NOT responsible for creating transaction costs in the markets?
a. difficult access to information
b. high wages
c. poor infrastructure
d. complicated tax system

6. Education creates positive externalities. What is the major failure with the market allocation of education services?
a. demand is lower than optimal, because external benefits cannot be used to pay for the price
b. supply is lower than optimal, because external costs increase the burden of schools
c. demand is higher than optimal, because everyone wants to study because of the external benefits
d. supply is higher than optimal, because all firms can profit from opening schools

7. Friedman suggested that governments tend to make nonrational decisions...
a. because they are corrupt
b. because they compete with markets
c. because they spend taxes on people with unknown preferences
d. because they compete for the votes of the people

8. Which of the below actions does NOT belong to the income redistribution function of the government?
a. collecting income taxes
b. giving food coupons to the poor
c. paying the bills of the police force
d. creating government sponsored pension schemes



9. Incremental budgeting means that the new budget is a modification of previous year's budget. What is the main advantage of this
method?
a. itgives a clear idea about the costs of different government actions
b. ithelps to see which actions are most needed
c. itisvery cheap
d. itis the only method known to solve this problem

10. Which of the below actions is an example to expansionary fiscal policy?
a. lowering the official (policy) interest rate

h. increasing consumption taxes

C. printing more money

d. increasing government purchases

11. The Hungarian National Bank uses inflation targeting to stabilise prices. The mid-term target is 3% inflation; predictions show that
we can expect prices to grow by 4% next year. What action is expected of the central bank in this case?
a. anincrease in the official interest rate
bh. anincrease in government purchases
c. adecrease in the official interest rate
d. adecrease in income taxes

Please copy your answers below (1 point each for correct answers)!
1 2 3 4 5 6
7 8 9 10 11

Essay questions (2 points each)

1. Anight club is set up in a relaxed neighbourhood. The families living in the area protest against it, because they claim that every
guest of the club increases the overall costs of the people living in the neighbourhood by €50. You are the responsible person
working for the local government. What would you recommend? What arguments would you use to back your decision? (2)

2. Let's assume that you are the nr. 1 decision maker of your country. Your statisticians tell you that the GDP of your country has been
declining for 4 quarters in a row. The budget of your country already has a huge deficit (14% of the GDP). Prices are stable, the
inflation is below 1%. What would you do in this situation to try and boost economic performance? Please explain your choice! (2)



